5 E 0|0 QI O|E -

SYA3000/5000/7000

A EA| Y
A,BXEE AIO|= e —e LIAl &%
LEAL Hl -2 B X| | B HH ZHQIX| AJO| =) 0oo| Re
0o] ooooo [poooo]lfpo] ooooo  |ooooo F G
M5 M5 x 0.8 SYA3000| [N3|g 54" 000 OO SYA3000 N NPT
01 1Z) SYA5000| [N7|g V4" 000 OO T NPTE
02 Va SYA7000| |[N3|g %' 000 00O
- Al
2IE{ | T B BH(Z 2| AO| X) N7|o Va' D00 D0 |SYAS000 —  eHapl
0] ooooo  [ooooo] (Neje %000 OO —
T 0oo 00000
C4lp4000 OO N7le ¥a" 000 OO | o000
SYA3000| (N9|@ 546" OO OO F1 00 oOoo oo
ge g6000 00 (200 0D 0O0D0)
4| g 4000 OO
F2 00 00000
C6|l g6 000 00 |SYA5000 AlZ|=
C8lg8000 OO 3 | SYA3000
C8|g8000 OO 5 | SYA5000
YA7
C10 s 10000 0o | SYAT00 7 | svaz7oo0
niks; _— L :
M ujzd  SYA|5(1({20—C6 N
o e
1} S: —_— i :
o~ s SYA[5|[1]40—
NEES) [ ePREE
SYA3000 LAt B R
SYA5000 000 Rc
ST e g F G
H|O| A HY 2+ SYA 7 |1 40 — i | N | NPT
Rt Rl - T [ NPTF
l PREE
et LIAL B &
200 0O 00d| Rc
1 3 F | G ¢ ZE AJO|X
N
VRS T ,\’;‘:TTF 00| 00000 00000
EAPIER) 00O 00 0000 00
2 o 0 | /8 SYA3000
) we ® ILE AlO|= 000000 oo
0o oooog a
EADEe 000| 00000000 02 | 1y gopo oo | SYAS000
30 0 closed center 00 gooooooo
e (000 OO:RCO OO)
3 42 Ya
- e 02 | ngoooo oo
(EA)P)(ES) 3/8
300 exhaust center 03
) 00000000
¢SS
o 13
(EA)P)(EB)
30 O pressure center
A)NB)
5 4 2
’ B .
(EA)P)EB)

183

O
2




SYA3000/5000/7000

AFY
oogoo 0o
200 00 0.15~0.7
aoooon 200 00 01~0.7
MPa
300 0.2~0.7
200 00 (0.7x POO.1)~0.7P: 00 0ODO
o)
I\D/IPDaD nooo 200 00 01~0.7
300 0.2~0.7
0000 0 o000o0o @) 0o 60
ooo@oog) Non-lock push
0o ooo
0o oo 0o
000/000 (m/s?) B2 150/30

oo0oo0ooo0o0boo 0o 0oooo0o Ooboobo obooooo
02)000:000 000000 0000000000000, 000 00ONDO OFFOO
000000010 00000000 o00(Con)
000:45~2000Hz. 10 OO, 00 OO0 OO0 O 0OO0OOO, 00000 ONO OFFOO
000000000 Oo0ooooo.@oon)

QDl)DDD 000 00000 0000 {4(P)}00 0000 0000 000 00 00 000

X O
AT—— \ .'
T EEEEEEE___—_—_—_n .
10 A0| Fo| B8 FoAE $2 P.A~158 2ol |
ISIMAI2. I
[ e e e e e e e e e e L T T T T I
[HUZE H0|A HAEAIYH O[S = el

SsYODDOOO 0O-000 0 000 00000 000 00000 00
00 DOO0O0. (20,41, 42,45 Typed 00O)

3 3
SS5YA§|] SS5Y§|:| ooboo oobooo.

o
w
AN

©
S 04 i
00000 000000000 000000000000 D oa /
ooooog. O
<0> 5 02
SS5YA5-42-03-020 1 set (42 Type , 30 O OOD OOD O0O) ’
* SYA51400 1set(00 00 OOO0OO O0O)
+ SYA52400 1 set (DD o0 oooog DD) 0.1 02 03 04 05 086

« 8Y5000-26-2A0 1set(J00 OODODO Assy. 00)
T»gpoD OO0 0Ooo0Do.
*0J00 000 00 0000000 o0o00ooo.

QD)DDDDDD 0000000 000 000 0000 0000 0000

0000 (MPa)

goooo,0o000 0000 0ooo00, 000000000 000D
oo.
(000 00O O0o0oo Pb6ed DOOOODON)

184

o
:



SYA3000/5000/7000

o = ir
FHSY/AHEE
54 Al/ SYA3D 20 Series (X! HYj2+31)
EGEIEE
oo oo 00 0o DDDDDDD Hponn 1 4/2 (P AB) 4/2_.5/3 (B - EAEB) D(QD)
P,EAEB| A, B | C (dmsbar) b Cv C (dm?/(s - ban)) b Cv
2 575 0.61 0.44 0.16 0.64 0.45 0.18 g?
Closed center 0.48 0.46 0.13 0.47 0.43 0.13
R ; |Exhaust M5X08 | 447 0.42 0.13 0.47 (0.44) | 0.41 (0.37) | 0.13 (0.12)
oo center 39
Pressure 0.50 (0.41) | 0.48 (0.35) | 0.15 (0.11) 0.47 0.43 0.13
center
2 g '; 0.72 0.29 0.18 0.64 0.34 0.17 22
Closed center Cc4 0.59 0.28 0.15 0.59 0.30 0.15
SYA30 20-C4 Exhaust | M5 x 0.8 |M5x 0.8 <D o4 )
3 | onter o 0.63 0.35 0.16 042 (0.41) | 0.34(0.37) | 0.11(011) | o
Pressure 0.76 (0.46) | 0.42 (0.34) | 0.21 (0.12) 0.59 0.29 0.15
center
2 g g 0.76 0.30 0.19 0.65 0.39 0.17 22
Closed center c6 0.76 0.55 0.24 0.60 0.33 0.16
SYA3D 20-C6 Exhaust <D 26 >
3 | Conter . 0.65 0.32 0.16 064(0.42) | 0.31(0.36) | 0.17 (0.11) |
Pressure 0.77 (0.49) | 0.34 (0.43) | 0.21 (0.15) 0.61 0.34 0.16
center
£:>D)[]DDNmmmDDDDD.
S Al/ SYA3D 40 Series (H|O| A HY2H)
oo OO0 og oy
00 OO 00 oo oogo |BoOooo 1 - 4/2 (P—AB) 4/2_5/3 (A/B — EA/EB) oo o2
C (dm¥/ (s bar)) b Cv C (dm¥l(s bar)) b Cv )
2 0o 69 (34)
1.0 0. 0.24 1.1 . 26
Ui | oo %0 0-30 0 71 (36)
Closed center 0.77 0.28 0.18 0.85 0.30 0.19
SYA3O 40-010 Exhaust | M5x 0.8 8
3 . .1 (0. . . . .
30 | oentor 0.73 0.31 0.18 11(055) | 026(052) | 024(0.16) | o o)
Pressure 1.2(0.51) | 0.24 (0.45) | 0.29 (0.14) 0.89 0.47 0.24
center

01 []00 NormalOOO OO
02)()00 0000000 00.

185

O
2




SYA3000/5000/7000

SS9/ H

=0

& Al/ SYA5 420 Series (X! Hj 2+3)

oo og
goooo

oo oo oo oo DDDDDDD 1 -4/2 (P-A/B 4/2 - 5/3 (A/B - EA/EB) o
P.EA.EB A B | Clomis-bar) b Cv__ | Clomils - bar) b Cv @)
2 e 1.9 0.35 0.49 2.4 0.39 0.61 28

SYA50O 20-010 3 Closed center Rcls 1.7 0.43 0.45 1.8 0.35 0.46
00 |Exhaust center 1.5 0.44 0.41 2.5[1.5] 0.32[0.43] | 0.59[0.40] 69

Pressure center 2.2[0.91] | 0.46[0.58] | 0.61[0.28] 1.8 0.38 0.46
2 00 82
oo 00 c4 0.75 0.43 0.20 0.85 0.64 0.30 87

SYAS5[ 20-C4 3 Closed center 24 0.74 0.40 0.19 0.84 0.57 0.28
00 |Exhaust center goono ) 0.75 0.36 0.19 0.84[0.84] | 0.64[0.53] | 0.30[0.27] 93

Pressure center M5 x 0.8 1% 0.78[0.71] | 0.44[0.37] | 0.21[0.18] 0.84 0.57 0.27
2 oo x 0. 8 76
oo oo c6 1.5 0.33 0.33 2.0 0.37 0.52 80

SYA5[] 20-C6 3 Closed center 26 1.3 0.31 0.33 1.6 0.32 0.39
00O [Exhaust center ooooo ) 1.3 0.33 0.33 1.8[1.4] 0.35[0.37] | 0.44[0.35] 87

Pressure center 1.7 [0.80] 0.31[0.47] | 0.42[0.23] 1.7 0.33 0.44
2 od 68
oo 00 cs 1.9 0.21 0.45 2.3 0.29 0.57 74

SYA5[ 20-C8 3 Closed center 28 1.6 0.29 0.39 1.7 0.38 0.46
00 |Exhaust center (D gooo ) 1.4 0.38 0.39 2.0[1.5] 0.37[0.40] | 0.52[0.43] 79

Pressure center 2.2[1.6] 0.32[0.44] | 0.56 [0.44] 1.8 0.41 0.50

QD)[ 100 Normal DO DO OO.

5/ Al/ SYA5(] 40 Series (H]|0] A Hjj 2k31)

oon oo oooo oo o2
o0 oo oo oo oooo ooooo 1 - 4/2 (P- A/B) 4/2-5/3 (A/B - EA/EB) )
C [dm3/(s - bar)] b Cv C [dm3/(s - bar)] b Cv 9
2 ogd 105 (42)
oo 0o 2.4 0.41 0.64 2.8 0.29 0.66 110 (47)
SYAS5O 40-0200 3 Closed center | M5 x 0.8 s 1.8 0.47 0.50 1.8 0.40 0.47
00 |Exhaust center 1.4 0.55 0.44 3.0[1.2] 0.33[0.48] | 0.72[0.37] | 115 (52)
Pressure center 3.3[0.84] 0.36 [0.60] | 0.85[0.28] 1.8 0.40 0.48
01 []00 NormalODOO OO
02)( )00 0000000 00.
A/ SYA7O 20 Series (2! & v 2+)
oo og
Do oo oo oo DDDDDDD oooom 1 -4/2 (P AB) 4/2_.5/3 (A/B _ EA/EB) ? ')]
P.EAEB A, B |Cldmi/s-bar)] b Cv C [dm¥/(s - bar)] b Cv 9
2 B g 41 0.23 0.93 33 0.33 0.81 132
SYA70 20-020 3 Closed center I 2.9 0.31 0.70 2.4 0.38 0.63
OO |Exhaustcenter 2.5 0.39 0.65 3.4[2.1] |0.35[0.38] | 0.82[0.54] | 186
Pressure center POO: 4.3 [2.4] 0.23[0.32] | 0.97[0.61] 2.2 0.39 0.58
2 oo : 138
oo 0o 14 cs 3.2 0.26 0.77 3.2 0.37 0.82 183
SYA70 20-C8 3 Closed center 17 28 2.6 0.24 0.63 2.4 0.31 0.62
00 |Exhaust center AL (1 0ooo 2.4 0.25 0.57 2.6[1.9] | 0.42[0.46] | 0.70[0.56] | 192
Pressure center '1’/8 3.3[2.4] 0.28 [0.22] | 0.78 [0.57] 2.2 0.34 0.60
2 oo : 135
oo 0o c10 3.8 0.26 0.86 3.2 0.34 0.82 180
SYA70 20-C10 3 Closed center 2 10 2.8 0.27 0.67 2.4 0.21 0.59
070 |Exhaust center (] oooo ) 2.5 0.25 0.59 2.7[2.0] 0.38[0.38] | 0.70[0.56] 189
Pressure center 3.8 [2.4] 0.25[0.31] | 0.89[0.61] 2.3 0.38 0.61
QD)[ 100 Normal OO0 O0O.
& Al/ SYA7C 40 Series (H|0| A Hj 2+3])
oon oo oooo oo o2
oo oo oo oo oooo ooooo 1 -4/2 (P-A/B) 4/2 -5/3 (A/B - EA/EB) )
C [dm3/(s - bar)] b Cv C [dm3/(s - bar)] b Cv 9
2 oo 240 (111)
oo 0o 41 0.41 1.1 41 0.29 1.0 286 (157)
SYAT70 40-020) 3 Closed center 8 14 3.0 0.43 0.80 2.6 0.41 0.72
00 |Exhaust center 2.6 0.42 0.71 4.71.7] 0.35[0.48] | 1.1[0.49] | 294 (165)
Pressure center 5.3[2.3] 0.39 [0.49] 1.3[0.65] 2.2 0.49 0.63
2 od 240 (111)
0o 00 4.9 0.29 1.2 4.5 0.27 1.1 286 (157)
SYA70 40-03 3 Closed center 8 35 3.0 0.40 0.80 2.6 0.45 0.73
00 |Exhaust center 7.2 0.34 1.7 13 [4.0] 0.23[0.41] | 2.8[0.95] | 294 (165)
Pressure center 5.3[2.3] 0.31[0.51] 1.3 [0.64] 2.3 0.45 0.66
O01)[]00 Normal OO0 OO
02 ()00 0000000 00. 186
r
< SNC



SYA3000/5000/7000

SYA3000 Series: X! & Hi 2+ YRS

290%| A=

SYA3120- 32 \3(-F2)

49.6 o00 oo

i ABOD)
M5 x 8 00 0000:2 4,0 1/4"
(00D 0OD) g 2 6,9 5/32"
2-9 2.2
(000000 00)
(203200 00) =

=
:
(3.2)

%l%
i b
H RARE RN
i TE - 1 |f‘|||'|_rli w
® 8 § ' | 8
o I | i o @
W L (1
T [
00O oo z5
(Non-lock)
1.3 s
(OO0 00) |
T T
A T EB =
ZAEo+ L S
19
M5 x 0.8
(P,EAEBOD)

21500 00
EEEEEEGEEEEE)

187

o
2

FE B2pl 239| 32

SYA3120-&& 3-F1

0Doo oo
(Non-lock) i
f{\.]l
[HTTTL LoD | 5 5
M ®
i
; 2-932
9 (00 00)
31 35
38
218
.
o
18.5 75
(3.2 411
SYA3120-M5
M5 x 0.8
(A,BOD)
—“_'*JI [I] 1
@ | w
& Lo g 2 ®
|
2.




SYA3000 Series: X! & Hi 2+ YRS

29X o=
SYA3220- gg N3(-F2) 542 000 00
M5 x 8 (A,BDD)
000000:04,81/4"
(oo o) @0 2 6,9 5/32"

o
== B e
” FO T T 1
| | |
oooD oo i e
(Non-lock) S ! ] L |! [.| I .H L ©
@ a ! | + o
1 L I @
A o i ' C SYA3220-M5
) !
M5 x 0.8
(A,BOO)
2 1.3 @
o
(00 0OO) . "
P_% = P T r—‘_’\:_ i B
EA T EB -
¥ 1 2 | @ 2
= ¥ bt | ~ | : ol
2-g1.500 00 | *
GhEEEIEEEREEEEE) L M5 x 0.8 |
(P,EA,EBTO)
32 x| Closed center / Exhaust center / Pressure center
SYA3420- ¢4, Ng( F2) 62.7
271
000 oo
215 30 (A BDD)
MS x 8 b0 0gO0:8 4,6 1/4"
(0Doo oo) o e cd @ 6, 8 5/32"
en Z o\
Rl Py | =
10.2 2-g 22
o4 (0000 OO0 00)
3
I }
——
H ST
1
000 00 || =4 i i e i) '[ L
(Non-lock) N ® L I: I! I | ! @ 3
\ & | © SYA3g20-M5
H ~— =]
-H - o™ | "9
4 -
€©) ! M5 x 0.8
(A,BODO)
213 @ ) R N
(0o oo) = 710 L0 (S | i
e it .
i | o @
& o | ©
2-g1500 00 ]
(0000 000 00000) M5 x 0.8
(P,EA,EBTO)
188



SYA3000/5000/7000

SYA3000 Series: H|O| A Hf 23 S X+

14.5 _ _13.25
2%l 42 m
SYA3140-01C : N 5
1
I
: 496 2-¢ 3.2
o000 oo
= (Non-lock) 44 (00 00)
35 5
/7 o
& 7 ] @ @ O
] e - 5:'} E_’ : - .
5
M5 x 0.8
(Coooo) 41 2
=)
[]
E W / @O
: Y Q
= 1l 1
1/8
00 0o e T
14.5 13.25
29|%| Cjg
SYA3240-01C Z
00
|
: |
—— .
35 542
43 2532
19 ooo oad 00 00)
(Non-lock) 35 3
\® [© @IEI fo;)
1T 59 I @ e il
5 SI—zjo| »
S e o
M5 x 0.5 !
(000 OD) it
= ==
‘;;:
- Q )
oo oo @ 7% 1oy
199 % 205 1/8

(0O o0o)



SYA3000 Series: H|O| A Hf 23 S X+

SYA3000/5000/7000

2| X| Closed center / Exhaust center / Pressure center

SYA3§40-01D

35

19

14.5

13.25

135

46.8

OO
I
| 1
== —_—
62.7
0Doo oo 20 ¢ 3.2
(Non-lock) 35 3 (O oo)
L]
(&) .© &
ALY A o
).‘l 5 i \ o
[ ] %
I
M5 x 0.8 42 9.5
(000 Oo0)
151
i e
) 1
1 I
I
RPN
| o TP
- 1 | 11
1/8
oo oo 20.5 0o o0o)

41

o
2

190



SYA3000/5000/7000

SYA5000 Series: =& Hj2ts IS X5

29X d=2

SYA5120-C¢: N30 (-F2)
C8, N9

ZE Hap Ba

SYA5120-&¢ Nor1 -F1
C8, N9

70.6
a7
_ 63.1
M5 x 8 | ' . ® ag
(oo 00) ! == = = 2
l " X
o
: A 1P N o e
14.5 U_ }&@ e
= o
goo0 o0gd 36 2-9 3.2
(A,BO0O) (0000 0D o0o)
DDDDDD:%'%//?%" 0DoOo oo L3 2-g32
58, 01/4" (Non-lock) (0o oo)
25
(45) 2-g 3.2
(0D oo) =
37 ~ —
@
’ < e
¢$ I 3 | ( I
ﬂ Pl ! | *}r I @
1 o | - | 1 } —]
L - J ol
T al = ¥ < i
_g 2 . g g I § 1 —h
InCam & g - ®
L.'_
| o
oo0o oo 323 o
(Non-lock) —
(4.9) 40.4 10.5
2 1.8
(0o oo)
N
2-g1.500 00
(0000 000 ooooo) 1/8
(PEA EBOO)
SYA5120-01C
1/8
16.2 (A,BODO)
s, | —
] |
\ | |
0
o
& I g -
O
323
191
ZS\NC




e |

u

SYA5000 Series: =™ Hi

SYA3000/5000/7000

N i

—_o
29X o= Ca. N3 SYA5220-010
SYA5220-Cé, N7 (-F2)
C8, N9 76.6 1/8
61.6 A BOO
M5 x 8 ) . 16.2 ( )
(00O 00) : = ) 2
\> t = =
N = X BI Y : :
b -l e i
I w| o
14.5 @ i gl
(000D 0o 0o) 0
oo oo . .
(A, BODO) 3
0000 00:g 4,0 5/32" -~
== 6, 0 1/4" el
g 8, g 5/16" X
jus el ] 2]
" =
L T _@ l o
3 - | ol &
" .
000 0o
(Non-lock) s 18
1.8 : (P,EAEBODO)
(0D 00) o] &
== 2
232200 00
(0000 000 0O00o00)
= 3
3 X glos(e:g ﬁgnter / Exhaust center / Pressure center SYA5g20-01D
SYA5420-ce, N7 (-F2) 8
5 C8, N9 892 16.2 (A,BODO)
2-M5 x 8 - 30.8 43.4
(00D 0O I c [ == ——
\Jh : E: : : ; X £ ] } J
r KA AN - H
TERIATE L9 | T 13
I o ™
14.5 \ 2-g 3.2 E
0oo oo % (0000 00 00)
(A, BOO)
0000 00: 24,8 5/32" 38.3
26,0 1/4" 2-g 3.2 &
28, 9 5/16" (0o oo) =
== ==
p§ i I 4Q
=‘% I |
| @ J [ S
[
000 oo L 83
(Non-lock) 27.2
21.8 @ S
(0O O0) % al

15

2-g 2200 00

EEEGEEGEEEE)

)
ZSNC 192



SYA3000/5000/7000

SYA5000 Series: H|O| A Hi 2 X

r—T—.
22[X| M= 0
SYA5140-020 @’ @—J
- -
0
I i
475 o
J T
34 2.5 4.3 706
155 (0D 00) 63.1
48 —— 53
-+
) QH—
TN 7 -
& &
m O |
M5x 0.8 56 43
(00 00)
000D oo i
(Non-lock)
i
d
+ + + _‘“’I B
18 18 1/4
28 (0D O0O)
_ - )
291% T2 | -
SYA5240-02° &
s -
uj
I
475 - g
— e
34 76.6
2-9 4.3
155 (00 oo) 61.6
48
Al ) & *
oo Ig T T8l .
. i @l T
) M5 x 0.5 ] [F)
(00 00)
56

193

000 oag
(Non-lock)

o0 oo /

o
2

O
18 18 1/4
28 (OO oo)




SYA3000/5000/7000

SYA5000 Series: H|O|A HY2HH X £

32 x| glosed center / Exhaust center / Pressure center
SYA5 g40-02D

9.5

& 2-g 4.3 892
i5s (OO0 O00) a8 4
L\ 9 © € :
e Il M
—of® e &-- o 8
A / &
(] [F
M5 x 0.8
(000 00) 58.8 15.4
OoO00 oo
(Non-lock) 229

22

1/4
56 (0O 00)

194

o
2



SYA3000/5000/7000

SYA7000 Series: = & v 2+ I X|LE

29(x| &2

SYA7120-&%,"31 O (-F2)

000 og

A BOO)

0000D00:28, g5/16"

210, 2 3/8"
87.5

1/8

779

(oo oo0)
! AN
SN 2-g 4.2
19 (000000 00)
42
(66)
2042 (52) s
(00 0o) s
= ==
ﬂ (O
" @] " o
@l & P
Ll =
“-@’ ik ol
4 0 q
39.4
ooood
(Non-lock)
1/4
218
POD
(00 00) ( ) o

2-g 2200 00

GEEEEEEEEEEE)

195

(EA,EBOD)

SYA7120-020

ZE Hapy o A

SYA7120-83,},,0 -F1

38

| l L
oog oo 7
(Non-lock) 15
34
Pe———a7

=
QB o

T,

28

(5.4) 43.3

1/4
(A, BOO)

34

39

24.5
28

o
2

39.4

1_




SYA7000 Series: = & H| 2+&

SYA3000/5000/7000

29Xl 4=
SYA7220- 5N
1/8 96.2
(000 00) 77
i d M/\\\H%.A. N =
| 19 s
oogd ogd 42 2-9 4.2
(A,BOD) (0000 OO0 00)
00 o0o0od:e 8, g 5/16"
2 10, g 3/8" i
LT
Fﬁ% ! *$>J_I iR
I ]
@ ] 3
1 i
e g SYA7220-02
0oo oo 1/4
(Non-lock) 1/4 20 (A,BODO)
1.8 (POO) o
(00 0D0) | |
NS b A L0 [~y /
W T o ¥ @
k= s |’ b f— : g @
2¢2200 00 36 ‘“
(0000 000 00000) 1/8
(EA,EBODO)
32X g:losed center / Exhaust center / Pressure center
SYA7220- &80
109.2
1/8 38.5 51.5
(000 00)
] Al (2N B
~ BNINTART iz
19 | 2
ooo oo - 2-g 4.2
(A,BOD) (0000 00 00)
00 00 00:9 8, g 5/16"
2 10, o 3/8" _
== 1w -
> [ICTICL? _
Be -y
“V -3 .
™ = @
A = 3
“1; ¢ = SYA7420-020
5
1/4
000 oo 48.1 = (A,BOD)
(Non-lock)
1/4 =) I
218 (POD) = = | I -
(00 ODO) = i o 3l 2
‘E'— o~
2-g2.200 00 48.1
(0000 000 0ooooo)
(EA,EBDOD)
196

o
2



SYA3000/5000/7000

SYA7000 Series: H|O|A HiZHS A X|+=

29X o=

SYA7140-3200

0
ML
J \/
= = 2943
42 61 104 ——F———
s (0o o00)
Lo (00O 0D) -
[ © %
P gt
£ ‘@ﬁ:\\ | " ?-1 || t\? w| w
& \s2) 37 || = B =
__f R
"‘1 EA B [EB]
o000 og s
21 (Non-lock) 69 6.4
87.5
—3 = =

/ M\ AN o
00 00 | ) 9
QBRMKJ a®
205 | 205 @
4 C' 38, 1/4
(0D 0D)
21 225
29Xl 4= P
SYA7240-30 Ve 3 @ g
- E»
96.2 R
o = 26 43
42 61 4 (0D OoD)
1/8
—— 000 OO
( ) © @&
~ oy
%6 =S Hest sl ¢
i £ =
= R
NEA [l B
000 oo &
21 (Non-lock) 71.5 5.5
151
—
.E,
LD A o
00 00 i ) b
L A A B EL
205 | 205 i
as U 378, 1/4
(0o oD)

197




SYA3000/5000/7000

SYA7000 Series: H|O|A HY 2 U X £

32| x| Closed center / Exhaust center / Pressure center

3
SYA7 240-320
5 21 225
JanVarullE
U\ _|
J:
109.2
61 & 2-5 4.3
a2 61 al | ©ooo
1/8
A (OO0 gno) Ty
B i) &
e < ot
o[%S LAY L .
I PV ASZA s
i —
0oo oo :
21 (Non-lock) 71.5 185
28.1

/@3@{3 i

3/8, 1/4
(0O oo)

w

11.5

SMC 198

O





